A-Frame Arm Assembly

Tools Required: 1-1/8” spanners or adjustable wrenches — 2 nos.
Assembly Instruction:

1. Hold “A” frame arms and swing long arms together as shown below.

Hold these arms together,
and align all the bolt holes.

2. Put the hex head bolt, %” X %4” long, in the position shown below.

Hex head bolt 3/4" X 2-1/2" long with Lock nut

3. Tighten the bolt and nut with adjustable wrenches until lock nut engages with the bolt. THE

BOLT MUST HAVE SOME PLAY OR RANGE OF MOTION.



PTO Shaft Assembly Instruction

Tools Required — %” deep Socket with ratchet handle (1 Nos.)

1. Fix the Implement to the tractor with 3 point hitch connection and lift it for the free rotation of

the gearbox.
2. Take out the locking pin and rotate the PTO shaft to the position, So that the locking pin hole in

PTO shaft would be parallel to the ground.

Slot in the Gear
Box Shaft

Align the lock pin hole
parallel to the ground

3. Fix the PTO shaft on the gearbox spline shaft and match the lock pinhole to the slot in the

gearbox shaft.
4. Insert the lock pin in the slot, make sure it will fit completely inside the pinhole. Please position
the lock pin as shown in the below picture and fit it inside and tighten the locknut to 49 ft-lbs.

—— :




PTO Shaft Assembly Instruction

Tools Required — %" deep Socket with ratchet handle (2 Nos.)

1. Fix the Implement to the tractor with 3 point hitch connection and lift it for the free rotation of
the gearbox.

2. Rotate the gearbox drive shaft, So that the hole in the shaft would be parallel to the ground.

Hole Should be in this position

3. Align the hole of the gear box and PTO shaft. Put the shear bolt 1/2"-13 x 3" long through the
hole and tighten the nut with %” Socket to 49 ft-lbs.

Align the holes and use 1/2" X 3"
long shear holt and tight the nut




Height Adjusting Wheel Assembly Instruction

Tools Required — 1-1/8” Socket with ratchet handle (1 Nos.) and 1-1/8” spanner (1 Nos.)

1. Insert hex head bolt 3/4"-10 Thread Size, 3-3/4" Long to hold the wheel holding tube (as shown
in picture) and tighten the lock nut. Make sure nut is not too tight, the square tube should move
freely.

2. Fix the Implement to the tractor with 3-point hitch connection and lift it.

3. Insert the square tube holding pin and adjust the height, where you want to run the Brush
Cutter.

Insert the square tube holding pin

Insert 3/4"-10 X 3-3/4" long bolt and tighten the
lock nut (make sure square tube can freely move)




	A-Frame Arm Assembly
	PTO Shaft Assembly Instruction
	PTO Shaft Assembly Instruction
	Height Adjusting Wheel Assembly Instruction

